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rThe risk indicator assumes you keep the product [for x
years/ until date [where there is no exact maturity datel]
[where applicable] The actual risk can vary significantly if
you cash in at an early stage and you may get back less.
[When considered illiquid][You [can not/may not be able
to] cash in early][ You [will/may] have to pay significant
extra costs to cash in early. [When considered to have a
materially relevant liquidity risk] You may not be able to
sell [end] your product easily or you may have to sell
[end] at a price that significantly impacts on how much
you get back.]
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